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All Questions are compulsory and each question is of 1 mark.
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The Dieselrengines are also knowrn as

(a) Spark ignition (S.1.) engines

() Compression Ignition (C.I)
engines

(c) Steam engines

(d) None of t_hese

In Diesel . engines, “the duration
between the time of injection and the
time of ignition is called

(a) Cut-off time

~ (b) Delay period |
(¢) Injection peried

(d) Ignition petiod
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In practice the compression ratio in
Diesel engines is less than the petrol
engine. .
(a) Disagree
(b) Agree

. (c) Depends upon cost criterion

(d) None of the above

. A square engine cylinder has a
_clearance volume of 100 ¢m? and a

throw of crankshaft is 5.25 cm. The

‘compression ratio will be
(@ 7:1

®) 8:1

© 9:1.

d 10:1

Highest useful compression ratio
(HUCR) is the highest compression
ratio at which the

(a) Engine can run
(b) Engine gives maximum output
(c) Engine is most efficient

(d) Fuel can be used in a test engine
~ without knocking

Theformula for Iso-aoctane is
@ CsH}s |

@ GiHy



MA303

10.

m@ﬁwma@ﬂmﬂmﬁw
W SR W o ¥

(a) 379 ATOHH T8

(b) e e

c) FAAFEAE
(@) R A e

uw Tt e O R eer T

e ¥ o R

(@) T Sier wor R I
T.D.C. W& |

®) W wier W § TDC. B
L R

©) m%ﬁrﬁswamﬁmn.c.aﬁm
Ll

(d) wﬁﬁmwﬁwc an

T W R % A, mﬁﬁmtm
%wmaﬁmt

() wmu&wﬁ
(b) T &R ¥ e H

© hwmwa%wmﬁ
@ P o & o

&)

10.,

o - 2178
The major condition that results in

- large quantities of Hydro Carbon

emission is

(é) High temperature combustion
(b) Incomplete combustion

(c) Low temperature combustion
(d) None of above

The ignition in a spark ignition

engine take place when the pistonis

(a) exactly at the T.D.C. position
on its compression stroke

" (b) leaving the T.D.C. position on

its compression stroke

(c) approaching the T.D.C. position
on its compression stroke

(@) approaching the T.D.C. position

on its exhaust stroke

The fuel that detonates easily is

(a) n-heptanq_ g

(b) iso-octane

(c) benzene

(d) alcohol f

In a four stroke cycle, the minimum
temperature ‘inside  the engine
cylinder occurs at the

(a) beginning of sucﬁon stroke
(b) end of suction s;roke
(c) beginning of exhaust stroke
(@) end of exhaust stroke
P.T.O.
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The wet bulb temperature dun‘ﬁg
sensible heating of air
(a) remains constant
(b) decreases
(c) increases

(d) none of the above

Which of the following statement is

wrong ?

(8) The heat transfer in liquid and
gases takes place according to
convention.

(b) The amount of heat flow
through a body is dependent
upon the material of the body.

() The thermal conductivity of

solid metals increases with rise
it temperature.

(@) Logarithmic mean temperature
differénce is not equal to the
arithmetic mean temperature
difference.

The dry bulb temiperature lines, on

the psychrometric chart are

(a) vertical and uniformly spaced |

(b) honzontal and uniformly spaced

(¢) Horizontal and non-uniformly
spaced

(@) curved lines
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During debumidification process at
surrounding temperature,

remains constant.

(a) wet bulb temperature

- (b) relative humidity

(© dry bulb temperature

(d) Specific humidity

The probability of knocking in diesel
engines is increased by

(a) High self ignition temperature
of fuel

®) Low volatility of fuél
(c) Higher viscosity of fuel

d Al df these

In a refrigeration plant, heat rejected

18

~ (a) Equal to heat absorbed

() Less than heat absorbed

(c) Greater than heat absorbed

(d) Depend upon plant copling load

P.T.O.
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Which of the following statement is
correct for psychrometric chart 7 -
(2) The constant enthalpy linés are
also  constant wet bulb |
temperature' lines.
(b) The wet bulb and dry bulb
temperature are equal at
saturation condition.

(c) The wet bulb temperature is a
measure of emnthalpy of moist
air. ‘

(d) All of the above

The tﬁerni0staﬁc éxpansion valve

operates on the changes in the

(@) degree of superheat at exit from
the evaporator ‘

(b) temperature of the evaporatdf

(c) pressure m the evaporator . |

(d) none of the above

A good refngerant should have
(a) high latent heat of vaporisation
and low freezing  point
 temperabire.
(b) high" opérating pressures and
~ low freezing point temperature.
(c) high specific volume and high
latent heat of vaporisation.
d) low C.OP. and low freezing
-point.
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The ignition quality of a petrol engirie
fuel is expressed as
@ S.AE.Rating
(b) API gravity

(c) Octane number |
(d Cetane number

By increasihg ihe compre'ssidn ratio,
the surface to velume ratio also

(a) decreases

(b) increases |

(¢) rémain the same

(d) noné of the above -

The maximum compression ratio
suitable for side type
combustion chamber is. |

@ 11:1
® 10:1
© 9:1 . .
(d). .None of the above

valve

Whlch of the followmg engme type
can work on very lean mixture of fuel

- air?

@) S.I Engine
() C.I Engine
(¢)~ Two stroke lpetr()leng'ine‘
(d Alloftheabove '
) P.T.0.
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Velocity of flame propagation in tl;e
S.I. engine is maximum for a fuel-air
mixture which is

(@) 10% richer than stoichiometric
(b) - Equal to stoichiometric

() More than 10% richer than
stoichiometric

(d) 10% leaner than stoichiometric

ooooo

For minimizing knocking tendency in

- SI engine, where should the spark

plug be located ?

(@) Near inlet valve

(b) Away from both the valves
(c) Near exhaust valve

(d Midway between inlet and
exhaust valves ‘

A diesel engine is usually more
efficient than a spark ignition engine
(a) Dieselrr'_e_leases moré heat per kg
than gasoline.
(b) Air stggdard efficiency of diesel
- eycle is higher than that of Otto
cycle.
(c) Compression ratio of a diesel
enginé is higher than that of an
SI engine.
(d) Belf ignition temperature of
- diesel is higher than that of
gasoline.
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The highest enthalpy during the cycle
in a vappur compression refrigeration
system occurs after

(a)  compression
(b) expansion

(c) condensation
(d) evaporation

The discharge of hydrocarbons from
petrol  automobile  exhaust is
minimum when the vehicle is

(a) Idling

(b) Cruising

(c) Acgelerating

(d) Degelerating -

For a grey surface

(a) Emissivity is constant

(b) Absorptivity equal tq reflectivity

(¢} Emissivity equal to
transmissibility

(d) Reflectivity equal to emissivity

In an S,I. engine, which one of the
following is the correct arder of the
fuels with increasing detopation
tendency ? ' :

() Paraffins, Napthelenes,
Arpmati¢s -
(b) AromatIQS, Paraﬁnsw
- Napthelenes
(c) Napthelenes, Aromatics,
- Paraffing
- (d) Aromatigs, Napthelenes,
Paraffing '
P.T.0.
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Note: Question No. 1 is compulsory, answer any five questions fmm the remammg

(i) 3O ST 3 W} S @t AT U Qe BT SR |

Solve all parts of a question consecutively together.
(iii) 5P ot 3 73 g o et BN
Start each question on a fresh page.
(iv) ol araralt F s 0 ) Rafer % it argame o arar & 1
~ Only English version is valid in case of difference in both the languages..

1,6 'aﬁwmmww&?

-+ What is the use of Octane No. ?
(i) PR ¥ a9 R wEEa ¥
.. 'What do you mean by detonauon?
(i) C.oP.w¥?
: What is Coefficient of Performance (COP)?
) Tt ‘ ._
"' What is radiation ? : o _
[0 mmﬁmwm%? e
~ What do you mean by Natural Convection ? '

2 () e e e ek e s Wk & e & S |
o 'What are the main factors which affect the tendency to:detonate 7 Describe in

” CE T N 2
PN

(2xS)

......

(6)
- (i) mmmwmaww |
L Describe in detail the following types of combustion chambers
(a) R AHR ,
Bathtub Shape RISEE
(®) 7 IMwR . ;
Wedge Shape - » A (343)

(10) : P.T.O.
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Explain the following in brief :
(a) Wi Hem

Knock ratmg
(b) HagEiER

Sensitivity

(ii) wﬁwﬁﬁmwmtwa}rfaﬁwwﬁmﬁwﬁwm \
“Explain the various ‘methods to control Air pollution by exhaust gases.

maﬁswmﬁmmmwhaﬁh{wmm%mw |

Explain vapour compression refrigeration system and state the fnncnon of each
'component :

@) mwmmﬁmaﬁﬁwm%?m . o
What are the various apphcatlons of Automobﬂe air condmomng system ?

Explain.
(i) P oy v feoof fefa :
Write short notes on following : .
() SRS, AR PR
, Automobile air-conditioning control
- () W T

Magnetic clutch )
() SRR e ¥ A wr wwe § 2w 3T e |
What do you mean by psychrometric chart ? Explain its uses.
(i) S siereor &t fifier waw fafit e iR 1

Explain the different types of convection mode of heat} transfer. |

forer o e oot fnfarg
Write short notes on followmg
() Fr & gmr o SRR
Heat transfer through fins
(i) o sEdvs
Critical insulation

| (iii) FafwoT Sea s

Radiation Emissive power

um.

* What are the advantages and dlsadvantages of induction sw1rl in C.I. engines ? Explain
* in detail. ‘

(3+3)
®

(6+6)

®a)
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